=
| |
—
I
feN q
=
@ 2
LJIA (A
.J Al
V. V/
< ~2
P —
_ |
f [en
—
o e
> v/
_I_ o
rlﬂ =
W

A 127, ==, =" demn /\

z€h






R
/o F ; F oo
1
14 "N /’]:lim/']k € &l
1T-1 >0
1 1
q ER&—_I_ I-F\ P | IF | -F\I 1 m
k g équ—fququ—qé g/qk_qu r]k_r] r]_r]+r']_r] ()
-1 0 p 7 p .
R h
=>15/'1k~’>'§lim/']k
p 1

N1 Ov-u() kT k ko 'k k k
m

h R

ooy lim [, zlim/ '/]k
p p

b

h n h 1€ N1 n
y1 € YK halb-norm = By1 FT—MO € NK norm

R 1,6 &1 b o
e 1= VS & = 1a+146€ N1
1-1, =0

m— 0
[l

m / / n m / / n m_ _n / / / .F\l
T+ — Na+0a = 1-1a+1-14 <M1= T+ 17-0 4 20=>%+10e 11

T T
% % % %
/']a—l— /""/’]ka—l—qkd:frlka—kf']kd"ﬂf’]a—I—f’]éL
& 0 7 1



-1, >0

’Iq - qkl|

- v/ -
L= [N
[ ) [

v/ —

@ (e

[

< H— 3 w_l

_ 4 [

+ < (ol ﬂ

S Tfu

OBO < ﬂq
[
v
nlk <
——




h h e N1
%1 voll = %1 FT—M voll treu

F o
V1 e N1

N1 = 1 -1 <2 =
0 k+1 _k
1, -1, <2
m T m Tl m T m 1] 7k 7k 71 —_ k 2 — k
:>/]k_/]k+1</]k_qk+qk_qk+1+qk+l_1k+1 S20+20+2 <2
Seih =1 \ 12" ="M T o -4 <> 1 —
z€h Jjzk
b
g3~k
LE\>/I /I_/I Z|/I]+1 ] Z/I Z —1e Ll
jzk izk ik
m ] m Tl m LL} _k- 3_k- 4_k- -F\ 1
1, -1< 0 -1 +1-1<2"+2 <2 W= N1317 ~1h =1
R
[ T\l .F\l
ﬂkg'le I%R+=>’]E hl/'] VN/’]
DCT 0 k
p p
12R:—’I<']k<’1
1 e R - "NR, 51+ VL 21+ Y 1, <21 = bR 51+ Y 1
e 0 o k<j<t d k<j 4 McT o T k<j !
h R
/'I+ Y']./'/'H— 1
k<j’ r<i<e’
W M
Y 1 AY'] limsup 1, =1 = BR 51- Y 1. 721-17 = 1-1€ DR, = 1€ NR
k< Kizk 7 izk
R R R R R h
/’I—/']:/’l—']/'/'I—Y’].:/'I—/ ']=>/ '\/Y’]
— k<j? k<j k<j
1 1 p u 1
R R
Y /ﬂ.g/ Y 1. true for all k
k<jiJ 7 k<j ’
p I
R R R R R R
= lim f]:AY/WgA/ :/ /J —hm/—Tzhm/']
E ik J & ik N - J
p u p u




